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5. Which of the following line 6. What is the slope of a line that is

segments are parallel? What perpendicular to the line segment
are their slopes? (Type D) shown below? (Type D)
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Line segments: ?&: N_U

7. Line segment AB has endpoints A(-4, -1) and B(-1, 5). Line segment CD has
endpoints C(1, 1) and D(5, -1). Are AB and CD parallel, perpendicular, or neither?

Explain. (Type B/D) Wae iS Sp.uanw
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8. Write the equation of a line with a slope of -2 and a y-intercept of 5. (Type E)
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9. Write the mn‘cmzo:. of each of the ﬁo__o<<_:,@ lines in slope-intercept form. (Type E)
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10.Graph the following lines on the grid below: (Type J
a) y=-2x+3 |mx|m
r y b) ¥ =3
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